 EQ \b(2+x)\s\up8(2)-x\s\up8(2)=24 
 EQ \b(2+x)\s\up8(2)-x\s\up8(2)-24=0 
 EQ \b(x+2)\s\up8(2)-x\s\up8(2)-24=0 
 EQ \b(x\s\up8(2)+4x+4)-x\s\up8(2)-24=0 
 EQ x\s\up8(2)+4x+4-x\s\up8(2)-24=0 
 EQ 4x-20=0 
 EQ 4x=20 
 EQ x=20:4 
 EQ x=5 
 EQ \b(1-x)\s\up8(2)-\b(3+x)\s\up8(2)=-56 
 EQ \b(1-x)\s\up8(2)-\b(3+x)\s\up8(2)+56=0 
 EQ \b(x-1)\s\up8(2)-\b(x+3)\s\up8(2)+56=0 
 EQ \b(x\s\up8(2)-2x+1)-\b(x\s\up8(2)+6x+9)+56=0 
 EQ x\s\up8(2)-2x+1-x\s\up8(2)-6x-9+56=0 
 EQ -8x+48=0 
 EQ -8x=-48 
 EQ 8x=48 
 EQ x=48:8 
 EQ x=6 
 EQ \b(2x+3)-x\b(4x-3)=15 
 EQ \b(2x+3)-x\b(4x-3)-15=0 
 EQ 2x+3-x\b(4x-3)-15=0 
 EQ 2x+3-15-x\b(4x-3)=0 
 EQ 2x-12-x\b(4x-3)=0 
 EQ 2x-12-\b(4x\s\up8(2)-3x)=0 
 EQ 2x-12-4x\s\up8(2)+3x=0 
 EQ 5x-12-4x\s\up8(2)=0 
 EQ -4x\s\up8(2)+5x-12=0 
 EQ 4x\s\up8(2)-5x+12=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=\b(-5)\s\up8(2)-4·4·12=-167 
Дискриминант отрицателен, значит уравнение не имеет корней.

Окончательный ответ: нет решений.

